A A . fyu =y \ {H ST b T 8, 500m’ 15K RS AR & 2, 260m
TRSHEEL BR W — ik BE R W) B R AL O BT MU i 30, 800m A | BOD 20 mg/1
6 ﬂ ﬁ‘ﬁ j%“f % A ?& 15 /K ALBRRE ) 35m, H KE SS 10 mg/1
‘A H ST i N R = H 7K L P it %
N N=3 v=,
AR UK R, eIk mik | L O <LK = E x fii %
I B | /B | /B | 6 R) (/R (/B i gy | A BR BRI pH | AR | R ERE | oM PR
10K it 342 1k 0D 2 S L
2 (&) it 342 1k 0D 2 S L
3 ()
4(H)
5 () 12.5 Z S 6 8.1 13.6 ) 30 7.1 0.2
6 (k)| 2.29 3.00 7.4 W ZR 157 11 0D 2 ) A
7 (K) St R 5 1k 0D 2 -
8 OK)| 1.54 2.00 52.0 TSR 15 11 0D 2 3
9 (&) 0.83 1.00 Tt 5% 45 11 0D 2 B A
10 (H)
11 (H)
12 (A) 14.9 x® 6 8.1 16.1 ) 30 7.1 0.2
13 (k) 20.3 15.5 X 6 8.1 18.0 ) 30 7.2 0.2
14 k)| 2.93 2.00 21.2 15.2 P'S 6 8.1 17.5 ) 30 7.1 45.9
15 CK)|  0.99 1.00 2.6 T 2RI (D 2 3L
16 (&) 19.0 % A5 1k D 2 B L
17 ()
18 (H)
19 (A) 15.8 x® 7 8.2 18.7 I 30 7.2 0.2
20 (k)| 0.81 1.00 3.1 T SR 12 1 0D 2 S e
21 (7k) BLPX :—‘JJ:@%,]‘HEI
22 OK)| 1.38 2.00 Tt 342 1k 0D 2 21 ) 2
23 (4)| 1.16 1.00 it g 15 1k D 2 71
24 ()
25 (H)
26 (H) 16.7 x® 5 8.2 18.4 I 30 7.1 0.2
27 (k) 0.40 12.8 it AR 55 Lk 0D 2 T 4
28 (k)| 1.55 1.50 it 5% 52 Lk oD Fe - 4
29 (K)| 0.75 1.00 Tt B3 4= 1k 0D 2 21 ) 2
30 (&) it R 52 Lk 0D 2 T 4
& = 14.23 0.40 15.50 71.0 67.4 - - - - - - - - -
NS 1.42 0.40 1.55 35.5 11.2 15.1 - 6 8.1 17.1 - 30 7.1 7.8
K K 2.93 0.40 3.00 52.0 21.2 16.7 - 7 8.2 18.7 - 30 7.2 45.9
B N 0.75 0.40 1.00 19.0 2.6 12.5 - 5 8.1 13.6 - 30 7.1 0.2
DB ORI HSTRIL HEt it AR E
AP fie % pH SS BOD COD T-N R ORI Bl PEAIRE R (1) 25,007.11
KEMRAE - E ORI e F R AL AR R (t) 14.63 43.77 (R PEARTRAY)
Bk T 0.5 0.7 18 55 BLOR S HIN Sk (1) 14.63 | 43.77 95,091.38
HIE4EA A WAL A A R EREE R = HOTHL, FiH 4 PN D BB (nf) 14.63 | 43.77 BL%
20234E6 H 14 H ik 16 185 12 H K D PN EB R T Bl BmrE (n) 15.50 | 40.50 | HEF Tt
: YT, PERESE AR Bl ARHENIA R (m) 30.13 | 84.27 51.44 | 48.06




A U =y \ LB HHNT M R 5,400 15K HFE A B -
TRISELE S b — i BE W) fie 1% 0L 53 VST H A A 14,6001 A | BOD 10 mg/1
7 JLERRE 3 =i
6 H ;"f\& EI:%AF /':E':ﬁ; o H i& 15 /KA RE 7 20,/ A KE SS 10 meg/1
HH B v BN W 2 i x m il i %
= = =
REREAR| Tk 58 | B s mik | L O B WK L z & - '
b= ] Ky b=l 3 iid = 57
! W | e/ m o /o ) i | KR | B ERE pH | kiR & | BERE | pH BRRIER
1K) TR 5 1 0D 2 G L
2 (%) TR 5 1 D 2 G L
3 ()
4(H)
5(A) 78.0 s 1k oD 2 FHANEL
6 (k) 6.0 14.0 13.1 5, 30 7.2 12.8 ) 50 6.9 0.2
70K 12.0 19.0 13.7 3 30 7.0 14.1 T2, 50 6.9 0.2
8 (R) 14.0 1.0 Tl LD 2L
9 (&) 2.0 T ER e (1D 2 2 EL
10 (H)
11 (H)
12 (A) 52.0 it % S B D 2 R HH Sk
13 (k) 2.0 it 5% e oD 2 A H ke
14 (K) it 5 5 B D 2 B HH Sk
15 OK)| 5.07 2.00 it 3% S B D 2 1 HH Sk
16 (4%) it 5% e oD 2 A H ke
17 ()
18 (H)
90D T Bhe D B ST AT
20 (0 7.0 Wik B> By PR
21 OK) 4.0 it % S D 2 B ER HH Sk
22 OK) 2.0 it 5% e oD 2 FHHH H ke 5
23 (4%) 3.0 it 5% M e oD 2 A H k4
24 ()
25 (H)
26 (H) 33.0 it % R D 2 B ER HH Sk
27 (k) 3.0 it 5% e oD 2 T H ke 5
28 (UK) 17.0 it % R D 2 B ER HH Sk
29 (K)| 4.50 2.00 10.0 12.0 14.8 S 28 7.0 15.7 T 7, 50 6.9 0.2
30 (&) 6.0 5.0 15.4 R 28 7.0 15.9 i) 50 6.9 0.2
& =F 9.57 1.00 346.0 51.0 - - = - = - - - -
TS 4.79 2.00 21.6 10.2 14.3 29 71 14.6 50 6.9 0.2
& K 5.07 2.00 78.0 19.0 15.4 30 7.2 15.9 50 6.9 0.2
AN 1.50 2.00 2.0 1.0 13.1 28 7.0 12.8 50 6.9 0.2
DB ORI HSTRIL HEr FEEF AR E
AL it 5% pH SS BOD COD T-N EEOFBORDL fls PEAIRE R (1) 11,655.52
KEBRE ik N N N N N E ORI i3 R LB R T (L) 9.57 31.88 (AR FERFRAR)
" B LORN i BN Z AR (1) 9.57 | 31.88 11,709.40
HIEFSEAH HUTF K WAL A4 PR EREER Z B OFEE, Wi i3 N T B (md) 9.57 31.88 B=+t%
i - - 172 H K DN S TR e B=EE () 4.00 22.00 | HFEF it
=i - - YT, PERESE AR Bl ARHENIA R (m) 13.57 | 53.88| 29.48 | 40.83




